Day 3.Circles Practice

- 17" the diagram below secant KIM and d tangent KP are drawn to circle O. If mLP =50 and the measure

ZPKM =47 , find the measure of mMP .

K

2.) Incircle O, secants PBS and PQR are drawn. If mZSPR =65 and m@ =43, find mSR .

3.).Incircle O, chords CH and AD intersect at point Q inside the circle. If mZAQH =51and mCD = 64
find mAH . (You must draw the picture)



- 4.)Ifchord AB tangent CD are drawn, Solve for x.

A

- 4x+ 50

5.) Ifchords AB and CD intersect at E in circle O, if mBC =140, mAD =150 ,find mZAEC .

D
A

6.) If tangent PQ and secant PRT intersect at P, and mé;{= 75, mé? =112, find mzP.

&



7.) Chords AB and CD intersect atE in circle O. If mAC =20 , mDB = 100 find the m£BED .

| D
o/

8.) Tangents PQand PR intersect at P, mQSR = 200 , find m /P

Q

&/ R

9.) Chords AB and CD intersect at E in circle 0.1f mAC=27 ,m£ZDEB =54, find mDB.

D
A



Assume that lines that ai)pear tangent are tangent. Find the value of each variable.




13.) In Circle O, tangent ﬁ, secant CDG, chords B—E, F_G,, EF are drawn. The mABEF =60,
mBE =110, mGE =60, and m£BCG =50

&/
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a) mEBF
b) mBD
c) mZCHE
d) mFG
e) m«LDGF

) m«ABE
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1 ™ the diagram below secant KLM and d tangent KP are drawn tocircle O. If mLP = 50 and the measure

\orsPKM = =47, find the measure of mMP . -
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2.) Incircle O, secants PBS and POR are drawn. If mZSPR =65and m@=43,find mSR..
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3.).Incircle O, chords CH and AD intersect at point Q inside the circle. If m/ZAQH =51and mCD = 64
find mAH . (You must draw the picture)




4.)1fchord AB tangent CD are drawn, Solve for x.

Son U
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3x = s

4x+50 '

K 2x+75§
C X =185
5.) If chords AB andC—Dintersectatb; in circle O, if mBC =140,m247)=150,find mZAEC .
150 ' N

ML-AEC = "EZ(VV\A’B *l‘*’\{?)(.}
x = »(150 +1u0Y)
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6.) If tangent PQ and secant PRT intersect at P, and mék=75 , m@?‘ =112, find mzP.
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7.) Chords AB and CD ﬁtersect atE incircle 0. If mAC =20, mDB =100 find the m/BED .
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8.) Tangents PQand PR intersect at P, méﬁ? =200, find mZ£P.
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9.) Chords AB and CDintersect at E in circle 0.1f mAC =27 , mZDEB =54 find mDB.
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13) In Circle O, ) tangent CBA, secant CDG .chords BE, FG, EF
mBE 110 mGE = 60, and m/BCG =50

A

are drawn. The mL_BEF =60,
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